
 

 GT-0071-a-19-1-o 3 / 10 lees verder ►►►

Tekst 3 

 
1p 3 De volgende drie alinea’s van tekst 3 staan hieronder, maar niet in de 

juiste volgorde. 
 Schrijf de letters van de alinea’s in de juiste volgorde op in de 

uitwerkbijlage. 
 
[a] And let’s not forget the power of the Tesla brand. Tesla stands for 
sustainability and amazing performance and Silicon Valley cool. Still, 
making the Model 3 a success is going to require expanding the 
complexity and scale of Tesla’s operations to an unprecedented degree. 
Musk’s track record to date shows he’s well positioned to pull it off. 
Whether he actually does is anyone’s guess. 
 
[b] However, it’s also true that an all-new electric drivetrain makes a 
radically better product possible. A Tesla car drives faster than a sports 
car, and has a trunk in both the rear and the car. The difference between 
a Tesla automobile and your run-of-the-mill Chevy is arguably as big as 
the difference between the first iPhone and a 2006 Motorola flip phone. 
 
[c] Strategy analyst Ben Thompson compares Tesla’s cars to the iPhone, 
which was immediately so much better than what existed that it simply 
made everything old irrelevant. Of course, Tesla hasn’t made gasoline 
cars obsolete – at least not yet. And it certainly won’t render them useless 
practically overnight the way the iPhone did with dumb phones.  
 
 

Tekst 4 

 
1p 4 ‘It’s a minimalist lifestyle’ (alinea 1) 

 In welke latere alinea wordt uitgelegd wat met ‘minimalist lifestyle’ 
wordt bedoeld? 

Schrijf het nummer van deze alinea op in de uitwerkbijlage. 
 

1p 5 What is the point made about tiny house owners in paragraph 2? 
A They failed to settle down in the way society expects of them. 
B They have their own reasons for choosing to live as they do. 
C They share a passion for living an environmental-friendly lifestyle. 
D They suffered a financial loss that forced them to downsize. 
 

1p 6 What becomes clear about tiny houses in the U.S. from paragraph 3? 
A A lot of people are forced to leave them. 
B It is illegal to live in them all year round. 
C They provide shelter for people without homes. 
D Wealthy home owners disapprove of them. 
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1p 7 Kies bij    7    in alinea 4 het juiste antwoord uit de gegeven 
mogelijkheden. 
A others will follow 
B protests will increase 
C the costs will drop 
D they will be taxed 
 

1p 8 What becomes clear about tiny-house owners in paragraph 5? 
A They like to save money when possible. 
B They need freedom to fulfil their ambitions. 
C They prefer a more individualistic way of life. 
 

1p 9 What is the main goal of this text as a whole? 
A to inform people about the phenomenon of tiny living 
B to make opponents of tiny living change their minds 
C to motivate more people to try and take up tiny living 
D to point out the difficulties associated with tiny living 
 
 

Tekst 5 

 
1p 10 Uit welk citaat blijkt dat er discussie is over het rapen van krokodillen- 

eieren? 
A uit ‘the risky job’ (alinea 1) 
B uit ‘this derring-do’ (alinea 1) 
C uit ‘a hot topic’ (alinea 1) 
D uit ‘a quota’ (alinea 2) 
E uit ‘The proliferation’ (alinea 2) 
 

1p 11 Which of the following is not mentioned as a reason to support egg 
harvesting in paragraph 2? 
A Fewer people are being attacked by crocodiles. 
B It gives a significant financial boost to the area. 
C The native population gets a chance to profit. 
D The number of crocodiles has grown recently. 
 

1p 12 How is paragraph 3 linked to paragraph 2? 
A It confirms what is said in paragraph 2. 
B It illustrates what is said in paragraph 2. 
C It questions what is said in paragraph 2. 
D It repeats what is said in paragraph 2. 
 
 


